A fa Romeo Cha enge 2015 KANSA Rd.4 & KYUSYU Rd.3 & KANTO Rd. 5
VWA-Trial & Time Attack

54L7499@

A5-MEEREL 15 20 00
2015.11 23 Xk 2Y a3 AR K54 RAILERY—+ v k3. 703km
IGhi EF RHPIE K54/ — ETI B A A L Kn/h BEAER FryvTE

1 515 5 1 A{H MA Porsche GT3 143052 129.360 2/ 72
2 301 5 72 (e o BMW 1M IM 150270 120892 6/ 1 7218
3-300 A | =E@EH 23 AUDI TT RS ACTIVE TTRS 150608 17133 2/3 10. 564
4 301 B | JilE ‘iR Audi $3/2.0 AUDI S3 DL 155084 115835 72/ 8 12.032
5 132 3 | Bk TKA Porsche 996 # HY1996GT3AM b 155686 115233 3/ 8 12. 634
6 127 5 3 Wm 9 Peugeot 306 7Y 3-306 1.57452 113500 8/8 14. 400
7 181 5 4 3@ {2 Peugeot 2053Y- AN Y 138 1598541 H1 517 7 8 16. 489
8- 185 5 5 i #b BMW M3/3.2 M3-CSL 159955 11113 6/7 16.923
9 303 B 2 BR T VW POLO R.E.S POLOGTi 2.00.997 110175 1 1 17 945
10 185 5 6 HE BEX Peugeot 306 7Y IBTA 201 035 110140 8/ 8 17 983
1t 126 5 1 &EAEX #M Lotus 1-t' -3 1y~ STD 2'01 300 109.899 7 8 18.248
12 131 3 1 (k@ miF BMW M235i/3.0 M235i 205084 103307 2/ 8 20. 032
18 128 5 & =W B ABARTH 500/1 4 =[1=V7Y 2704238 10730t 4/ 8 21 186
14 306 C 1 2B B5 Audi TT 4-a /-WIBIBETT 2'04.621  106.971 7/ 8 21 569
5 35 B 3 if 9= VW GOLF6 R.E.S Golf6ED35 2'05.586  106.149 6/ 8 22.534
16 302 B 4 @A A VW GOLF4 R.E. SGo | f4GTi28& 205728 106,029 T 8 22.676
17 136 5 0 & Peugeot 106 F-LAN V" 106 2°06.281 105565 6/ 8 23.229
18 108 1 1 $EA {817 FIAT PUNT imozze-PUNTO 2:06.286 105560 7 7 23.234
19 103 -1 2 MW % ABARTH 500C F-h-1M¥742BJS 206824 105113 1 1 25 772
20:107- 1 3 3 B 155T516V/2. 0 TS-RACING 155 2:08.258 103.937 6/ 7 25. 206
21 128 5 10 F) fEt Peugeot 306 SLIPOUT306 208315 103801 71 8 25. 263
22 102 | 4 Wig K 145T8/2.0 ICCHI NO 209323 103081 7/17 26. 271
23 130 4 1 HWHE B3 ABARTH 595 ABARTH595 200704 102763 1 7 26.672
24 133 5 11 £\ #Ex VW POLO GTI 2 13.613 99772 1 1 30. 561
25 511 5 12 i EN 4C 215 714 99227 I 1 32. 662
2 405 '} 5 #E & 14778/1 6 FLTIITA AT E 2" 16. 358 97763 1 7 33.306
27 138 5 13 FEH #h 14778/2.0 7h77051147 2’ 46.152 80.233 6/ 6 1 03.100
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1=AR100, 2=EC100SS, 3=EC100S, 4=EC100, 5=—fETH

A=VWA-T-0, B=VWA-T-2. C=VWA-T-4



